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RESOLUÇÃO 

a) 500. 𝑛 = 19000 ⇒ 𝑛 = 38 
 
 

b)  

𝑉 =
500

1,01
 .

1. ((
1

1,01
)

49

− 1)

1
1,01

− 1
=

500

1,01
 .

0,385881

0,01
1,01

= 19294,05 

 

 

 

 

 

 

FUVEST 2ª FASE 

16/12 

1 



 
 

2 

c)      

19000 =
500

1,01
 .

1. (1 − (
1

1,01
)

𝑛

)

1 −
1

1,01

   ⟺ 

 

19000 =
500

1,01
.

1 − (
1

1,01
)

𝑛

0,01
1,01

  ⟺ 

 

38 =  
1 − (

1
1,01

)
𝑛

0,01
 ⟺  

 

38 . 0,01 = 1 −
1

1,01𝑛
  ⟺ 

 
1

1,01𝑛
= 0,62   ⟺ 

 

1,01𝑛 =
1

0,62
   ⟺ 

 

𝑛. 𝑙𝑜𝑔 1,01 = 𝑙𝑜𝑔 (
1

0,62
)   ⟺ 

 

𝑛 =  −
𝑙𝑜𝑔 0,62

𝑙𝑜𝑔 1,01
= −𝑙𝑜𝑔1,010,62 = 𝑙𝑜𝑔1,01 (

50

31
) 

 
 

Logo, 𝑛 =  𝑙𝑜𝑔1,01 (
50

31
) 

 
 
 


